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ZHAXNMNESE FAISIA (St . SHOHR)
A o18() 7| Ho17(3) 7|
T =
&= | EoXta | oaday | 2aXxts
1. XH7|Rt2 22,413 22,472
2. A HAXEH(A=Aa+Ab+Ac) 14,402 14,583
2L /X XH7| K2 (Aa) 19,500 13,650 19,500 13,650
DXL Q XHE (Ab) - 631 - 676
= XISHE
<iotE XAl A SHE utWI—‘rL 638,343 128 617,443 123
Je|of HetEXY|F 1,573,296 472 | 1,737,328 521
SR QY A 102,977 31 105,334 32
IFRA2EELXHE(AC) - 122 - 257
s A - 120 - 254
sielEX|Hel X2 - - - -
25 HA B AL XX 2 - - - -
7|t EXISEFA S 1,605 120 3,382 254
Hefj Mool HE, B
2, =H7|, K| - - - -
REXITHA QI A2
MEZHA Hefj Mool ME8SE
0] AAA EE= AA+9Q - - - -
8%
aele| 3% - - - -
o2 XISIE = _ _ _ _
ﬂﬂ—'%ﬂ%ﬂ x|'7|T'_‘o ,=“=,—|—x|'o:r"|_-|
EfA 2 E M EAEH - - - -
7/Et5H - - - -
oo E - - - -
CH= A1 A 18 1 46 3
3. | AGYUREA(A=Aa+(Ab+Ac) * 50%) 14,026 14,117




